
CMEP 05/11/06
1

TOOLS / MATERIALS NEEDED
3/16" DRILL BIT LEVEL MEASURING TAPE CENTER PUNCH SAFETY GLASSES

ELECTRIC DRILL HAMMER PENCIL / FELT TIP PEN PHILLIPS SCREW DRIVER CLEAR CAULKING OR SEALANT (MILDEW RESISTANT)

FAX NO.
(904) 641-1697

Coastal Industries Inc.
P.O BOX 16091

JACKSONVILLE, FLORIDA 32245
TELEPHONE NO.

(904) 642-3970

CHALLENGER
MODULAR CORNER UNIT

INSTALLATION INSTRUCTIONS



2

EXPLODED VIEW OF MODULAR CORNER UNIT
(LEFT HAND PIV0T SHOWN)

PARTS LIST
KEY PART

LETTER NUMBER DESCRIPTION QUANTITY
A 201 WALL JAMB (door) 1
B 271 WALL JAMB (panel) 1

C ---- PANEL ASSEMBLY
c1 249 Panel Rails 2
c2 250 Panel Stiles 2
c3 225 90 Degree Corner Post Adapter (attached) 1
c4 834 Panel Assembly Screws (not shown) 4
c5 C154B Panel Glazing Vinyl (not shown)
c6 638PHPT #6 x 3/8" Screw (90 degree to Panel)(not shown) 3

D ---- DOOR FRAME ASSEMBLY 1
d1 240 Door Frame Header / Sill 2
d2 245 Door Frame Pivot Post 1
d3 241 Door Frame Strike Post 1
d4 227 Door Panel Rails 2
d5 229 Door Panel Pivot Stile 1
d6 226 Door Panel Strike Stile 1
d7 CP201 Pivot Pin (not shown) 2
d8 CP209 Pivot Bushing (not shown) 2
d9 FW 10-093 Plastic Pivot Washer (not shown) 2

d10 98-42 Magnetic Strips (not shown) 2
d11 ---- (designation not used) --
d12 6112FHSL Door Panel Assembly Screw (not shown) 4
d13 834 Door Frame Assembly Screw (not shown) 8
d14 C173B Door Glazing Vinyl (not shown)

E 8112 #8 x 1-1/2" PAN HEAD PHILLIPS SCREW 6
F 834PFH #8 x 3/4" FLAT HEAD PHILLIPS SCREW 6
G 638PHPT #6 x 3/8" SELF DRILLING PHILLIPS SCREW 9
H C176B VINYL SWEEP 1
J 244 EXPANDER JAMB 2
K 1329 PLASTIC SCREW ANCHOR 6



CMEP 05/11/06
3

STEP 1
Position and Install Wall Jambs

Determine and mark the curb centerline,  as shown in  figure 1.

Before installing Wall Jambs . . . decide on the door location (left
or right side . . . your choice).  Note that there are two(2) Wall
Jambs . . . one panel side (B) and one door side(A).

Position the Wall Jambs up against their respective wall and
center them on the curb centerline marks, as shown in figure 1.
Plumb the Wall Jambs and pencil mark their installation hole
locations on the shower walls.

Remove the Jambs and drill 1-1/2" deep installation holes in the
locations previously marked.  Use a 3/16" masonry or ceramic bit
when drilling thru ceramic tile, marble or any masonry type
surface.  Insert Plastic Screw Anchors (K).

Reposition Wall Jambs as before and secure to shower walls
using 8112P Installation Screws (E).

Right or left hand pivot doors, whichever desired, can be
achieved by cartwheeling door frame 180 degrees.

Determine direction of door swing at this time.   Measure the
Door Assembly (see figure 3c), then trim the Vinyl Sweep (H) to
3/8" less than measurement obtained.  Notch one end of Vinyl
Sweep and insert into bottom rail, notched end first (see figure
3d).  Crimp slot when done.

STEP 3
Determine Door Swing and Insert Vinyl Sweep

figure 3

figure 1

figure 2

At strike side, engage the full length of Expander Jamb with the Door
Frame Assembly as shown in figure 2.  Secure with three (3) #8 x
3/4" flat head screws (F).  Repeat step for the hinge side.

STEP 2
Engage Expander Jambs with Door Frame



4

Lift Door Assembly (D) and Panel Assembly (C) onto the base ledge
and slide them onto their respective Wall Jambs (A & B) as shown
above.

STEP 4
Install Door and Panel Assemblies

figure 4

STEP 6
Caulk for a leak proof installation

TO INSURE A LEAK PROOF INSTALLATION:
First: Run a bead of clear mildew resistant caulking around
the outside of shower enclosure where shower unit meets
the shower base and where Wall Jambs meet wall (see
figure 6).

Second: From inside the shower unit, caulk the two(2)
circled areas indicated in figure 6 above (caulk the crevice
where the horizontal member meets the vertical member as
shown in figure 6b).

figure 6

Carefully follow caulking manufacturer's instructions before
using shower.

Unit Installation Screws (shown full size for reference)

STEP 5
Work Corner and Secure Unit

Work the corner of the Door and Panel assemblies to engage their full
length as shown in figure 5.  After assemblies are engaged . . . adjust
the unit along the curb as required.

When satisfied, secure the Door and Panel Assemblies to the Wall
Jambs using six(6) #6 x 3/8" self drilling phillips screws (G) three(3)
per side.  Secure Assemblies to each other at corner using three(3) #6
x 3/8" self drilling phillips screws (G).

figure 5

figure 6b


	Door w/ 1 end panel
	Sheet 1
	Sheet 2
	Sheet 3
	Sheet 4



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000500044004600206587686353ef901a8fc7684c976262535370673a548c002000700072006f006f00660065007200208fdb884c9ad88d2891cf62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef653ef5728684c9762537088686a5f548c002000700072006f006f00660065007200204e0a73725f979ad854c18cea7684521753706548679c300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020b370c2a4d06cd0d10020d504b9b0d1300020bc0f0020ad50c815ae30c5d0c11c0020ace0d488c9c8b85c0020c778c1c4d560002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken voor kwaliteitsafdrukken op desktopprinters en proofers. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents for quality printing on desktop printers and proofers.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure true
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


